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Sub-Section Number: 1
Sub-Section Id: 335472153
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 3354725831 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which year was Sir C.V. Raman awarded the Nobel Prize for Physics? | Tore o # @€ &t &% 79 @t fiidehr & oy
Tlelet [RERR & FEATIT T TT=T 917

Correct : 1 Wrong : 0

Options :

® 1929
¥ 1930
® 1932
® 1933

ol U L

Question Number : 2 Question Id : 3354725832 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Name the national park in Maharashtra that shares the boundary with another national park bearing the same
name in Madhya Pradesh. | AgRIE & UL IS & AT G0 AT 7L US4 H GATT ATH aTel U 37 L JeT o TrT T
T ATSAT FAT 3l

Correct : 1 Wrong : 0

Options :

# sanjay Gandhi National Park | & meft @eta I=m
¢ Pench National Park | U= T8 I

# Melghat Tiger Reserve | HeTee aTe G407

# Todoba National Park | TiSteT g I

ol L

Question Number : 3 Question Id : 3354725833 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which is a protein that is found in the human body? [ @19 &7 UF WA & ST AT SR # U7 197 37
Correct : 1 Wrong : 0

Options :

1. ® Collagen only | %ad ®ierad

2. ¥ Haernoglobin only | e gANATTE
3. # Insulin only | Fad segieiT

4. ¢ All of the above | IWIH Tl
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Question Number : 4 Question Id : 3354725834 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where in Central India are diamonds mined? | Fed IR H ERI &7 G99 F51 51T 57
Correct : 1 Wrong : 0

Options :

# Palanpur, Gujarat | UTa-gR, ToT
# Shivpuri, Madhya Pradesh | T9eqd), meg ugar

¢ Panna, Madhya Pradesh | UgT, 7 US9T
# Surat, Gujarat | @, ToRIT

ol SV L

Question Number : 5 Question Id : 3354725835 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

’Inte%lnational Yoga Day’ is celebrated on ______ of every year. | SR T AT Eae, Uede oy
STaT

Options :

1. ¢ 21st June { 21 99
2. ® 15th June { 159
3. ¥ 13th June { 133

4. # 14th June { 14 97

Question Number : 6 Question Id : 3354725836 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Constitution of India was adopted on _______. | RT FT G _______ T TAIH ToAT THIT 4
Correct: 1 Wrong : 0

Options :

1. #® 26th January 1950 | 26 F9a¢ 1950
2. ® 26th January 1947 | 26 a1 1947
3. ¢ 26th Novernber 1949 | 26 Faer 1949
4. # 26th June 1948 | 26 I 1948

Question Number : 7 Question Id : 3354725837 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Ruias-run Essar Oil sold its India assets for $12.9 billion to which major energy company? | #541d

TEAR A 9 12.9 3Ra STel & [o] ST YR @1 TRTqUTd o7 sat Sl @l @l i o7
Correct: 1 Wrong : 0

Options :
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1. # British Oil | i sifaer
2 ¢ Rosneft | Ta%¢

3. #® Exxon | UgE
4. ¥ Gazzprom | WA

Question Number : 8 Question Id : 3354725838 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who won the Ranji Trophy Championship in 20167 | 2016 H T ZT6T S=iay forae S T?
Correct: 1 Wrong : 0

Options :

1. ¥ Mumbai | a8
2. ¥ Gujarat | ToRIT

3. ® Tamil Nadu | Fie-1g

4. ® Karnataka | @ic®

Question Number : 9 Question Id : 3354725839 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where was Rajiv Gandhi assassinated at? | Triler Tt HT gear Fgl g8 417
Correct: 1 Wrong : 0

Options :

1. # Sriganganagar | TR
2. ¢ Sriperumbudur | SUEHgET
3. ® Srirangapatna | HRIgaH
4. ® Srirampur | ARG

Question Number : 10 Question Id : 3354725840 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

NEBFC stands for: { NBFC @&T 304 &

Options :

1. #¥ National Banking & Finance Corporation | J3=a T UE BE-d PRORIT
2. ® National Bank for Finance Creation | 999 & BT BIg4d I

3. ¥ Non Banking Financial Company | FT9 & BE=132e Fu=T

4. # New Banking and Finance Corporation | w3 e U GTg+q #RaRa

Question Number : 11 Question Id : 3354725841 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following Indians won the Rarmon Magsaysay Award for 20167 | fAgiaiEs vRd i # & foraa 2016 #
T AT [RERR SAAT?

Correct: 1 Wrong : 0
Options :

vy

1. # Bindeshwar Pathak | Te=3saX ura®
2. ® Ajoy Kumar Dutta | 3R §HR gl
3. ¢ T M. Krishna | &1.0q. s

4. ® Kailash Sathyarthi | ¥ems geamdi

Question Number : 12 Question Id : 3354725842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The state that was formed by bifurcating Madhya Pradeshis ______. MR AT s F A T FT
& T TT=IT 9

Correct : 1 Wrong : 0

Options :

¢ Chhattisgarh | BSETS
# Jharkhand | FR@UE

vy

* Uttarakhand | ST0QEs

# Bihar | fgR

119
2.
=5
4.

Question Number : 13 Question Id : 3354725843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Udayagiri caves are located at _____. { ISATTT THT ______ BTG
Correct : 1 Wrong : 0

Options :

# Ujjain | 3999
¢ Vidisha | fafsm

# Khajuraho | @SRT!

#® Mandu | AZ

ol Lo

Question Number : 14 Question Id : 3354725844 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
What is Ratlam farmous for? | T@am fradr oy nieeg 27

Options :
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1. ¥ Cotton and wheat | FuTq Ua Tig
2. ¢ Sev and gold | 9 U |47
3. ¥ Sev and cotton | 9T U HUTT

4. ® Gold and wheat | GRTTE g

Question Number : 15 Question Id : 3354725845 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Whose life-size idol is in Rajgaddi and Rajwada? | TeTE! Ud Warel # frda sende SR &1 gid a7
Correct: 1 Wrong : 0

Options :

¢ ahilya Bai | sffigeaman

# Lakshmi Bai | @sHaE

# Maharana Pratap | AEROT 0aTq
# Raja Bhoj | T 9IS

o L

Question Number : 16 Question Id : 3354725846 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where is the hilly fort in Damoh situated? | SHIg # UgTST fhetT Fg1 21T 27
Correct : 1 Wrong : 0

Options :

¢ Singhorgarh | g
® Baurbari | dReRT

# Fatehpur | Hagy<
#® Asirgarh | s’

ol L I

Question Number : 17 Question Id : 3354725847 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Indira Gandhi National Tribal University isin ______. | Bl et Tt S ferateeer #A
Correct: 1 Wrong : 0

Options :

1. ¥ Rewa j Oar

2. ® Alirajpur | STERFYT
3. ¢ Amarkantak | STARGCE
4. ® Satna | 34T

Question Number : 18 Question Id : 3354725848 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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was the Captain of Indian cricket tearn when it won 1983 World Cup. | & 1983 fasar @ SfiqT mam,
___________ URA 11 Tordee €1 o e <N

Correct: 1 Wrong : 0

Options :

1. ¥ Rahul Dravid | Ugd gi0g

2. ® Saurav Ganguly | HRY T[T

3. ¥ Kapil Dev | @iuded

4. # sachin Tendulkar | §EF dgAHC

Question Number : 19 Question Id : 3354725849 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
General Maths and General Aptitude

_________ of Madhya Pradesh is famous for nail art and nail painting and has a patent in the same. | 7e §gq
. ARG el Ud A1 Ui o oy 0ideg § U st # 3+% Uewe mde &

Options :

1. ¥ Wajid Khan | amig @&

2. ¥ MF. Hussain | R.U%. g&9

3. ® Raja Ravi Varma | T e gt
4. ® Satish Gujral | GET TERTA

Question Number : 20 Question Id : 3354725850 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Sardar Sarovar Damis builtonthe ________ river. | TER GUaC e ________ FET UR ST 12T 31

Correct : 1 Wrong : 0

Options :

1. ¥ Narmada | sHgr

2. ® Betwa | daar

3. % Son /99

4. ¥ Chambal | T&e

Section Id : 335472154 1
Section Number : 1
Section type : OnlineMandatory or Optional: MandatoryNumber of Questions: 1
Number of Questions to be attempted: 1
Section Marks: 1
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Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472154
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354725851 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Arish picks six different digits from the set {1, 2, 3, 4. 5,6, 7. 8. 9. 10} and puts them in the
squares in the figure shown so that the sum of the entries in the vertical column is 23 and the

sum of the entries in the horizontal row is 12. The sum of the six digits used is___. /

3RT FFeTT {1,2.3.4.5.6,7.8.9,10} & & ©F @ead 3H & gaar ¢, 3R 38
fe@e 3T A7 & g & 5§ UeR @dr ¢ & giafsedl &7 e FudnRR &OH A
23 o atdisr 9fFd & 12 gIaT @1 Ygad ©F 3l &I ATHel 21

[T

Options :
1% 27
2. ¥ 29
3. % 31
4. % 33

Question Number : 22 Question Id : 3354725852 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What number must be removed from 1,2 3,4,5,6, 7, 8,_9, 10, 11, 12, 13, 14, so that the average increases
t0872/1,2,3 4,5,6,7,8 9,10, 11, 12, 13, 14 H & [ g% ﬁgaamm%qﬁﬂﬁﬁmﬁwﬁafﬁqgﬁam

Correct : 1 Wrong : 0

Options :

1% ¥4
2 % 13
3.8 12
4.v1

Question Number : 23 Question Id : 3354725853 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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+2v 2v
If£=£,thenwhatis —(4x ' "‘)?/aﬁ £=z,<_-ﬁ' —(4x+ 2
y 3 (5x-2y) y 3 2y

o

Correct : 1 Wrong : 0

Options :

® g3
v 712
® 213
® 312

o A

Question Number : 24 Question Id : 3354725854 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An open cylindrical can of radius 7 cm and height 14 cm needs to be made from a tin sheet. What is the total
area of sheet required? | U R & aRI q 7 @Iﬁ%—m«r 3 14 94T FT8 1ot Gt SR Taeel 1 a1 BT ATTLIHAT 2]
TG o Pl T GAG @l ATAIRAT GITIT?

Correct : 1 Wrong : 0

Options :

1. ¥ 816 5q.cm | 616 a7t GHT
2. ® 154 5q.cm | 154 =1 g#t
3. ¢ 770 sq.cm | 770 a7 dHT
4. ® 300 sq.cm | 800 =t GHt

Question Number : 25 Question Id : 3354725855 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

s )
(104 105)

\ —9

(106 *107)

Options :
1. ¥ 001
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2. ¥ 0.00001

32 ¥ 0.001
4 ¢ 0.0001

Question Number : 26 Question Id : 3354725856 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

4x2 — 12xy +9y? =?

Correct : 1 Wrong : 0

Options :

, » (@x+3y)
g (3x+2y)
3 (2x-3y)’

& (x-2yp

Question Number : 27 Question Id : 3354725857 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the average. | 3fad Id ®4

58, 73, 21, 48, 10
Correct : 1 Wrong : 0

Options :

b

% <
w A
N M

¢
U
V]

¢
o3}
V)

Question Number : 28 Question Id : 3354725858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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If39.0625 = 6.25,then /0.0000390625 is equal to: / T 39.0625 = 6.25 2,

dr/0.0000390625 SXTeX &

Correct: 1 Wrong : 0

Options :

1. ¥ 0.0625
2. ® 0.03925
3. % 0625

4. ¢ 0.00625

Question Number : 29 Question Id : 3354725859 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The ratio of the number of boys and éi(;ls in class is 2:3, respectively. If the number of boys is 20, then the
qumbs%"ﬁof girls will be: | Ty H ASH! SR ASTHAl HI TEIT BT SGUTT FAL. 2:3 B AT ASH! @l G€a1 20 §, T Al Pl
q&qT :

Options :
1. ¥ 20
2. ¥ 30
3. % 50
4. % 10

Question Number : 30 Question Id : 3354725860 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Hema walks 7 km from East to West and turns right to travel 2 km. She turns right and travels S km. In which
direction is she positioned now with respect to the starting point? | gsz gl @1 T 7 TRt Ferd | & oY T gt
gsmz%rﬁaﬂa#%] g AT gSdl g 8RS 3 AT 31 alﬂ%l’oﬁfa—gaf T andt ag Tore e d R 87

Correct: 1 Wrong : 0

Options :

1. ® North East | IJWqd

2. ¢ North West | Jo¢ U

3. #® North | &

4. ® None of the above [ T90H @ FIE 51
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Question Number : 31 Question Id : 3354725861 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

& 300m long train CI'_OSS@S a platform in 29 seconds and a pole in 18 seconds. The length of the platform
is___. | U@ 300 HIET Fel ¢l UF tele®TH @1 39 S90S H 9T UeF @Fd & 18 S90S H U) FdT ) ém‘rcfzﬁami _____ 2l

Correct : 1 Wrong : 0

Options :

1. ® 650 m | 650 #Hiex
2. ¥ 350m | 350 HiET
3. ¥ 250m | 250 HiET
4. ¥ 450 m | 450 #HeT

Question Number : 32 Question Id : 3354725862 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the next term of the given series. | ST TT 4GaAT & SMTAT U 1T F
1,3,6, 11, 18, 29, ..

Correct : 1 Wrong : 0

Options :

® 36
® 56
v 42
® 52

ol S L I

Question Number : 33 Question Id : 3354725863 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

A man sells two articles at the same price. On one he makes a profit of 31% and on the other a loss of 31%.
What is the percentage profit or loss he makes overall? | U i o A Grdl I &1 aeq il &7 [dwa o Ua w) 3q4
31% T T UTH TehalT T 3173 U 31% T ZTI UTH &1 IG Pl Tl Wi 1T AT ZTI WTH T 87

Options :

1. ¥ 0%

2. ® 9.61% profit | 9.61% @9
3. ¥ g2% profit | 62% @

4. v 961%l0s5 | 9.61% gTi=

Question Number : 34 Question Id : 3354725864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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If 100 men can do 10;)1?135 in 100 days, then 1 man can do 1 job in: [ I 100 @7 100 At # 100 & & dea
% a1 1 =afh @ g @1 e | el

Correct: 1 Wrong : 0

Options :

1. ¥ 1day 1T

2. ¥ 100days { 100 feF
3. ¥ 50days | 50 e
4. % 10days | 10 e

Question Number : 35 Question Id : 3354725865 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

10 years ago, Vikas was three times as old as Raunak. Now Vikas is 40 years older than Raunak. Find the
respective present ratio of ages of Vikas and Raunak? | 10 8T qd, faem T & 319 7371 a1 9m 2 forare 9@ &
40 79 92T 31 e oK O 61 ad 0T I &7 SIguTd FAT: 1T P

Correct : 1 Wrong : 0

Options :

1, W7
2.8 7:2
3% 10:3
4. ® None of the above | 390 & &g 751

Question Number : 36 Question Id : 3354725866 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The smallest nurmber of 4 digits which when divided by 6, 8, 12 and 20 leaves no rermainder is: | 4 /@1 &1
ol AqH G, MR 6, 8, 12 Ud 20 & ToTiNa 9 WX @ils J9The 5l N B1aT 6 :

Correct : 1 Wrong : 0

Options :

® 120
® 1040
¢ 1200
® 1080

ol S L I

Question Number : 37 Question Id : 3354725867 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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If the surface area of sphere is 314cm?, then the diameter of the sphere is (take 1=3.14): / Ife
T el T TSOIT &A% 314 JHR §, a6 el & Ao (=3.14 &)

Options :
1. ¥ 10cm | 10 94t
2 ® Scm [ SaHT

Question Number : 38 Question Id : 3354725868 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

273 X (5)? x 3° =2

Correct : 1 Wrong : 0

Options :

1. %0
2% 3
3.¢1
4 8 2

Question Number : 39 Question Id : 3354725869 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The speed of P and Q is in the ratio 5:8, respectively. When they both travel a distance of 50 km, one of them
takes 6 h rmore than the other. What is the speed of the faster one in km/h? { P 8RR Q &1 TTid #HI 5.8 & ST # §
| ST & T SO st Y 8T T ATAT WG &, T TR DT S G 6 ©E SATEF oTd F) ST a1 aAter b Tt v # 1iid o g7

Correct : 1 Wrong : 0

Options :

General Hindi
1. ® 10km/h | 10 Trdi e=T
2. ¥ 16 km/h | 16 Tt EeT
3. ®¥ 3.125km/h | 3.125 Tt/ EeT
4. ¢ Skmih | S Tt eeT

Question Number : 40 Question Id : 3354725870 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Wwhich of the following is an irrational number? | FRARET # & 219 gar smic gE47 37
Correct : 1 Wrong : 0

Options :
1. ¥ 0.23535
28 205
3.¥ 01011101101
4. % 214268
Section Id : 335472155
Section Number : 3
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472155
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354725871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

e eafaat & Igmor # samq aryg arfére AT § Mead! g, 39 #5d § -
Correct : 1 Wrong : 0

Options :

PNy =
&

9
¢

(]

=

S
S

Question Number : 42 Question Id : 3354725872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

HYaer T # freeT v forar ST 87
Correct : 1 Wrong : 0

Options :
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1. ® Rt
4 # zof

Question Number : 43 Question Id : 3354725873 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

o Tkt o IR # 9ol &0 GE w1, 3% FEd o-

Correct: 1 Wrong : 0

Options :

1. ¥ g &R

(=

Question Number : 44 Question Id : 3354725874 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TR Td UZATER T d51 wan g g i g-

Correct: 1 Wrong : 0

Options :

i, W 'i'a -T%@'
2. ® -1
3. ® Fee-Tvad

v

4. ® FET-3TTT

Question Number : 45 Question Id : 3354725875 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Question Number : 46 Question Id : 3354725876 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T T URriaedt o o & @i a8

Correct: 1 Wrong : 0

Options :
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®
® e

(oS

w

-

Question Number : 47 Question Id : 3354725877 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

et Whar grax 51 & o Uar Jeg Mg H a = arg?

Correct: 1 Wrong : 0

Options :

1. Wy VIE
2 & F]V]“-:l

3% Hvlild
4. % gffar

=

Question Number : 48 Question Id : 3354725878 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T @ a9t foegg Mg A @ ang?

Correct: 1 Wrong : 0

Options :

1. ® 787 +arfm
2. ® g+t
3. ® @y +ariy
4. ¢ Afe+ar

Question Number : 49 Question Id : 3354725879 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ty @7 faam geg TR A F @ AT g?

Correct : 1 Wrong : 0

Options :

1. ¥ amiea
2. ¢ amg
$ Sﬁ"%l’f

AW

Question Number : 50 Question Id : 3354725880 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

‘i U § T e T H A B g7
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Options :
1. ¥ srivmTEe
2. ¢ it
4 ® sl

w

Question Number : 51 Question Id : 3354725881 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Teargie sreg # 9 # & @ a1 @A 87

Correct: 1 Wrong : 0

Options :

1. ¢ g 9T
2 ® FHyRT gHTT
3 ® RyauE

4 ® ag,cilig LSERIES]

Question Number : 52 Question Id : 3354725882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

P GT AT GgTer @7 s g # g i | ge

Correct : 1 Wrong : 0

Options :

1. ' agd ST AT
2. ® gga urq @A
3. ® T U SIAT AT

4. ® T g AT A

Question Number : 53 Question Id : 3354725883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘T H I STT GEra] @ orf g § & i g7

Correct : 1 Wrong : 0

Options :

1. ® 9 H A STH B 34T

2. ® IR gAT
3. ¢ AT
4. ® e T

Question Number : 54 Question Id : 3354725884 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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‘el & G T g H AT ATE?
Correct : 1 Wrong : 0

Options :

Question Number : 55 Question Id : 3354725885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

"ETe— T, Pl =Iele T,
G I ot Ja- g A
T Uikl # 19 9T SIA@R gl Fal fowed giau?

Options :

1. ¢ ST STAER
2. ® wUF AAFR

3. ® JUAT SIEFR

4. ® AW AT

Question Number : 56 Question Id : 3354725886 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

IuGH TR e FHAT - 37

Correct: 1 Wrong : 0

Options :

1. ¥ &g
2. % gmg
3 ¥ g
4. ¥ g

Question Number : 57 Question Id : 3354725887 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

" Tewe! Pl gSale oa ang it g ¥ U ATaTiaE Jeg T Wl #eh a1y, IaH @14 97 9uTE § -

Correct : 1 Wrong : 0

Options :

1. ¢ gouey qaE

2. % qgsiity gurg
3. % gzuAy
4. ® mHyRy guE
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Question Number : 58 Question Id : 3354725888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T T T TATAT AT F4T 57
Correct : 1 Wrong : 0

Options :

g =t

)

b w \'é\
8 Pde

4. ¢ g

Eural Economy and Panchayati Raj

Question Number : 59 Question Id : 3354725889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
o AR E -
Options :

1. Y@
4. ® gig

Question Number : 60 Question Id : 3354725890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘aae | A 8 | @ |t ater g2
Correct: 1 Wrong : 0

Options :

1. ¢ JurEte

2. ® TorEhe

4. ® sprie |t
Section Id : 335472156
Section Number : 4
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
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Sub-Section Number: 1
Sub-Section Id: 335472156
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354725891 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which of the following schemes do Panchayats have NO direct role to play? | Fgfai@a # & g diwmr # v=maat
W Bls Mcay AT 51 gldl 57

Correct : 1 Wrong : 0

Options :

ul”fm # Mahatma Gandhi National Rural Employment Guarantee Programme | AgTHT Tl F9=a & TraraHe et

2. ¥ Bharatmala project | ARIATAT Tivae
3. #® Rashtriya Shram Vikas Yojana | T 4\ fEee =T
4. ®¥ Mid day meal scheme | g 2 e @

Question Number : 62 Question Id : 3354725892 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

How many tier systemn of Panchayat Raj is operating in Madhya Pradesh? | W& Uesr # U=Iad O & Tha = €a e
AT T 1 &7

Options :
1. % 4
2, Wiz
%2

4 8 1

Question Number : 63 Question Id : 3354725893 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wwhich of the following regions of M P produces maximum soybean? [ Aed Wed & Haiaad =1 # § &1 a7 sridwan

TIATal A T JeUTEH FAT 57
Correct: 1 Wrong : 0

Options :

1. #¥ Bundelkhand | geasEs
2. ® Vindhya | =

3. ¢ Malwa | HTedT

4. ¥ Baghelkhand | aUag@s

Question Number : 64 Question Id : 3354725894 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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‘Project Akanksha’' has been launched in which district of Madhya Pradesh? | 7ed ngy & g et & ‘Wistere
SITRTET T AT I TS &ff?

Correct : 1 Wrong : 0

Options :

1. ¥ Mandla | AT
2. ¢ Dindori | &2
3. ¥ Ratlam | @A™
4. # Jhabua | e

Question Number : 65 Question Id : 3354725895 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which among the follounn%qtates is the largest producer of rubber in the country as in 20167 | a4 2016 &
Wwéjﬂﬁ%ﬁﬁﬁa’ qT I3 @S F1 Gad aal Icaied

Correct : 1 Wrong : 0

Options :

1. ® Tripura | By
2. ® Meghalaya | ReT@g
3. ¢ Kerala | ava

4. ® Tamil Nadu | Fie-1g

Question Number : 66 Question Id : 3354725896 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Grarmin Bhandaran Yojana’ 1s a capital investrment subsidy scheme for ________. | T RO G
o Torg uer goit Faar aﬁégr

Correct : 1 Wrong : 0

Options :

1. #® Construction of Safe-deposit Lockers in Villages | Tial # 8%-T2uTioe @t &7 =i
2. ® Construction of houses in rural areas | TTHIT &31 # w7} FT FHi0T

3. # Building cold storages at villages | Tt # st &7 fanfor

4. ¥ Construction of godowns in rural areas | T =1 # AT &7 fawfor

Question Number : 67 Question Id : 3354725897 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Balwant Rai Mehta Committee was appointed to review ______ . | IFEd T WgdT @it @
Temr T 9m
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Options :
1. #® Agricultural Development | FiY @@
2. ® Panchayati Raj | u=rmadt O
3. ® Electoral system | Taatae wormett
4. ¢ Community Development Programme | QTgeIad [daerd #ried

Question Number : 68 Question Id : 3354725898 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Government of India implemented the National Prograrmme for Organic Production (NPOP) 1n the yvear _______.
| ART W@ T ay _______ H e T B STRITE Wean (g Sdew Ieumed %h—a'n

Correct: 1 Wrong : 0

Options :

1. ¥ 1997
2. ¥ 2001
3. ®¥ 2008
4. ¥ 2015

Question Number : 69 Question Id : 3354725899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Nanonal Land Records Modernization Prograrmme (NLRMP) was launched by the Government of India in
________ TSI 0 ST Sme]feieh IaeT 1o (TAUASIRUAL YR SR gRT ________ ¥ & forar mam em

Correct : 1 Wrong : 0

Options :

1. ¥ 1998
2. ¢ 2008
3. % 2014
4. ® 1988

Question Number : 70 Question Id : 3354725900 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Madhya Pradesh Sugarcane (Regulation of Supply and Purchase) Act received the assent of the President
& ) aﬁgﬁw

in_______. | T WA TIT (MY 3T w o T Y WEATT T B

Correct: 1 Wrong : 0

Options :
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1. ¥ 1949
2. % 1952
3. ¢ 1959
4. ® 1962

Question Number : 71 Question Id : 3354725901 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
According to Indian Council of Agricultural Research, New Delhi, in 2014, the soil organic carbon content in

most of the soils in the plains in India was less than _____. | AR P @ Uite, 78 fowe! & SgaR, 2014 #
WRT | AT g3t # arfererrsr gerei # ST @e aed _______ T FF M

Options :
1. ¥ 4%
2 ® 3%
3 ® 2%

4. v 1%
Question Number : 72 Question Id : 3354725902 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In India, the National Dairy Development Board (NDDB) was constituted in Septernber: | ¥Ra # [@avew _______
TP S T aig (RS TS Tel) &7 T3 e T2 <m

Correct : 1 Wrong : 0

Options :

1. ¥ 1949
2. ¢ 1965
3. ® 19686
4. ® 1969

Question Number : 73 Question Id : 3354725903 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When did the Balwantrai Mehta Cornmittee submit its report? | Idd<rd Hgdl Qi o ST RUlE @ weqa @7
Correct: 1 Wrong : 0

Options :

1. ¥ 19586
2. ¥ 1957
3. ® 1958
4. 8 1959

Question Number : 74 Question Id : 3354725904 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Who are the principal authorities in the implementation of MGNREGA? | BT & &1 i-aa & el G USRI ®19

Correct: 1 Wrong : 0

Options :

1. # District Administration | T wame=

2. ¥ DRDA | EaIRET

3. ¥ Panchayat Raj Institutions | U=Iad T G€I=

4. # Rural development Department | TTHIT @ fawmT

Question Number : 75 Question Id : 3354725905 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the objective of Central Semen Station established in Madhya Pradesh ? | 7ed 03y # ®iug dga @9
TEIT T IS FAT 57
Correct : 1 Wrong : 0

Options :

1. # Breeding of high quality fish | 3= To@qaT aTelt AF Al BT Ho=-
2. ® Research in Agriculture | F # ey HeAT

3. ® Marketing of cattle | Rafd=f @7 EAuve F=T

4. ¢ Breeding of high quality cattle | Ig TUradT dlet AT & W=

Question Number : 76 Question Id : 3354725906 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Which Nationalised Bank has established highest number of Rural Self Erg%o;rment Training Institutes (RSETI)
in Madhya Pradesh ? | Aeancs # for TEIOgT dar o Tard S2TET TTHIOT T =TT aww:r(mw%ﬁ T ferar?

Options :

1. #¥ Bank of Baroda | d@ 3iT® agiar

2. ® Union Bank of India | gf+a+ & 1w giEar
3. ¢ Central Bank of India | dga d@ TF gigam
4. # allahabad Bank | SARTERE d@

Question Number : 77 Question Id : 3354725907 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The mission to improve agronomic practices through interactive information dissemination and adoption of
modern technologies in agriculture is known as ______. | T H URETRE TR &% 3 far HT AT
& AW PTG Arael ST Bl GARA % T e g e @t _______ AT & | AT 19T 3

Correct: 1 Wrong : 0

Options :

1. # Agriculture Information Mission | Tifideer SFETHIA HIT

2. ¥ Knowledge Centre Mission | ATors de¢ =

3. ¥ National Mission on Agriculture Extension and Technology | S8He T 3T Tlidheel Uaae = US SHiarat
4. ® State Mission on Dissemination of Agriculture Information | €< e 9 BaF=eT 3T Wiiter SBHaT

Question Number : 78 Question Id : 3354725908 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

%3;%‘ % t%e following is NOT a feature of Panchayati Raj in India? | ¥a # fgieiad # & &9 9 v=madt o &1

Correct: 1 Wrong : 0

Options :

1. ¥ 3tier systemn | Beay saaeenm

2. ¥ Collection of membership fees from villagers | TTHIVT & HEEdT I FT GUET

3. ® Regular elections every S years | g0 5 |d! § Hidd g1a

4. # Reservation of seats for SC}ST jWomen etc. | SJEiad STid | SFJgieid ATid | Aigetail SeaTie & fold Hiel &7 ST

Question Number : 79 Question Id : 3354725909 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which among the following 15 NOT an area of training imparted by Rural Self Employment Training Institutes?
| TTHIOT FErt TSR AidteT et R T my nideer # T FaF T A g

Correct: 1 Wrong : 0

Options :

1. ¥ Pumpset maintenance | UIEE &7 (@@
2. ¥ Research in Agriculture | FW # srgaem
3. ® Poultry | FFe e

4. # Computer Basics | HeT & TAd dcd

Question Number : 80 Question Id : 3354725910 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
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Deen Dayal Upadhyaya Gram Jyoti Yojana replaces which of the following erstwhile schemes ? | S g2ma
mmumv—qgﬁ‘mmﬁﬁaﬁﬁaﬂﬁﬁm ieT T mideeniiT T 37

Computer Knowledge

Options :
1. # Integrated Rural Development Programme | 5SS & SaadqHe T
2. ¥ Rajiv Gandhi Grameen Vidyutikaran Yojana | Trite mreft omeior faegd e arr

3. #® sampoorna Gram Rozgar Yojana | €qf UTH TATR =T
4. ® Deen Dayal Upadhyay Gramin Kaushal Yojana | S19 AT JUTLRIT TTHI0T S 156l FeT

Section Id : 335472157

Section Number : 5

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472157
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354725911 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Monitor is ajan: | AT-eC g1aT &
Correct : 1 Wrong : 0

Options :

1. ¢ Qutput device [ STITYT Za=a
2. ® Input device | zqe f2aeq

3. #® Computer | YT

4. ¥ Memory | AR

Question Number : 82 Question Id : 3354725912 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

__________ is NOT an operating system. | e SITORTET e 51 21

Correct : 1 Wrong : 0

Options :
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1. ¥ DOS
2. ® Windows
3. ¢ Java

4. ® Unix

Question Number : 83 Question Id : 3354725913 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Wwhich of the following is NOT an anti-virus software? | FHAfAEd # & ® 19 U@ USIaTed dFecX Ta! a7

Options :

1. ® Norton | 9fed

2. ¥ MySQL | AT UGFgUa
3. ®¥ Kaspersky | Fauddr
4. # Mchfee | Bkt

Question Number : 84 Question Id : 3354725914 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the default file extension of notepad files? | FIT0E B3 F1 ISHIcE BIgd THdc FAT 57
Correct: 1 Wrong : 0

Options :

1. ¥ PDF
2. ¥ DOCX
3, V' TXT
4. ¥ MP3

Question Number : 85 Question Id : 3354725915 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following refers to the vertical cells that can also contain information in MS Excel? | Fg# @ @19

TAUH UFdd | aiedhel 9e @1 Ggad FLdl 5, TaH ST i g G T 57

Correct: 1 Wrong : 0

Options :

1. ¢ Columns | 999

2. ® Rows | UfmEar

3. ® Horizontal Scrollbar | giRiee ricaar
4. ® None of the above [ g90 @ FIE 51

Question Number : 86 Question Id : 3354725916 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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In MS Excel, if data in rows or columns are needed for formulas but should not be visible 1n the sheet, you can:

} T TR Tt AT & T ditsat a1 Tl # ST P Sasawar g, Wi A1 0T G4 A1 g7 =gy, d7 S

Correct: 1 Wrong : 0

Options :

1. #® freeze the row or colurmn | Ui 2T T H1 119 #C G &
2. ® filter the row or colurmnn | Ui T €3W & Theet & T%d &
3. ¥ hide the row or column | Uik a1 &G & TouT G 3

4. ® remove the row or colurnn | Uit a7 €34 & 52T @Fd 5

Question Number : 87 Question Id : 3354725917 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

You are receiving e-mail from your manager. The e-mail has attachments of 5 MS Word documents. How
many attachments will you be able to view? | S0 &[0 Wefefd § SHA HTUT X 5l SHe1 # 5 TH.UH. 98 SHYHS GellA g
3T GATw & Fehl?

Correct : 1 Wrong : 0

Options :

1.8
2.¢¥5
3. %3
4 8 2

Question Number : 88 Question Id : 3354725918 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is the kind of network that is needed to connect computers in school, computer laboratory or offices? |
| TS UATTTAT AT Il H e Bl AlS o (o] fohd W & Heaer &l saeaedal

Options :

1. ¥ Local Area Network (LAN) | T 87 A0 (1)

2. ® Metropolitan Area Network (MAN) | HETHTOT & ATAFH (A9)
3. ¥ Mobile Area Network (MAN) | I &F JTe@H (A)

4. ® Wide Area Network (WAN) | oqa &3 I@@H (39)

Question Number : 89 Question Id : 3354725919 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who is the ‘Father of personal computer’? | U8-e FHIILT HT -F B 57
Correct: 1 Wrong : 0

Options :
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1. ® Augusta Adaming | SMTEET g2 THT
2. ¥ Edward Robert | Ugdg e
3. # Charles Babbage | TTAd se
4. # pllen Turing | Uad ST

Question Number : 90 Question Id : 3354725920 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In MS Word 2007, from which menu you can insert Header and Footer? | UHUE g€ 2007 #, 3y ford A & g2v
e §ele T Tdd 57
Correct: 1 Wrong : 0

Options :

¢ Insert Menu | g8 8

# View Menu | g 8]

# Home menu | g0 8

Page Layout Menu | 9 @s13e ﬁi

o R

Question Number : 91 Question Id : 3354725921 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Which icon is used to “undo” in M5 Word? | UAT® a8 # ‘undo’ & &0 ToFa ST &7 I forar ST 87

Options :

1. 8

]
oV
3 %

Question Number : 92 Question Id : 3354725922 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Free of cost repair of software bug available at Internet is known as: | T I IUA TIFTALR a1 HT 14 JelF
RIS
Correct : 1 Wrong : 0

Options :

1. ¢ Patch | 0=

2. ® Tutorial | TEIRTA
3 ® Addon | UZ 3H
4. ¥ Anti-bug | G&ramT

Question Number : 93 Question Id : 3354725923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which shortcut key is used to underline the selected text in MS Word? | UATE I8 H, SSTaATE #¢ & (o] dTede gt

Correct : 1 Wrong : 0

Options :

1. ¢ Ctrl+U
2. 8 Alt+U
3. #® Ctrl+Alt+U
4. ® Alt+Ctrl+U

Question Number : 94 Question Id : 3354725924 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Sending an e-mail is similar to: | $-He W4T T & G 3
Correct : 1 Wrong : 0

Options :

1. ¢ Writing a letter | oz forgr

2. ® Drawing a picture | & a=mT

3. # Talking on the phone | B9 W a1 FAT
4. ® Sending a package | Tt H9T

Question Number : 95 Question Id : 3354725925 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A hardware device that is used to print text and graphics from a computer onto paper is known as: | g geda}

TEamga FraasT IUT HTgey § THYT o T H1 B UL e e o Tol] fohaT SI1aT §, PEamdl & :

Correct: 1 Wrong : 0

Options :

1. ® Yerox | SRieq
2. ® Fax | %o

3. ® Scanner | ¥
4. ¥ Printer | e

Question Number : 96 Question Id : 3354725926 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
A collection of 8 bit is called _______. [ STRTwTang ______ FEATAT 3

Options :

1. ® nibble | e

2. ¢ byte | aET

3. ® double word | TadA-T&
4 ® word | T2

Question Number : 97 Question Id : 3354725927 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In MS Word, the first step to be followed for changing the line space is: | THUS g2 H, #@1g- QU URaiad &< & oy
ST AT ATAT Ugell TR0 &
Correct: 1 Wrong : 0

Options :

1. ¥ Read the content | HeT ®I UGAT

2. ¥ Select the content | Hee & Gelgpe HEAT

3. # Change the style of the content | e & GTIEA aga-T
4. ® Click on page Layout Tab | US #SI13T ¢a U faere Fer

Question Number : 98 Question Id : 3354725928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is a leading web browser? | AT # & #19 U il e 139K 37
Correct: 1 Wrong : 0

Options :
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® HTTP | HTTP
® FTP | FTP

¢ Internet explorer | §2¢4¢ THFATART
# None of the above | IWiFT § & F1E 751

5

Question Number : 99 Question Id : 3354725929 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

There are totally ____ computer generations known till today. | S dd HET &1 Fel ______ s 2T ST g
Correct: 1 Wrong : 0

Options :

1. ® two | ar
2. ® three | 9
3. ® four | I
4. ¢ five | U=

Question Number : 100 Question Id : 3354725930 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
In MS Excel 2007, Chart group is availablein _______ tab. | TOUH U 2007 § I g0 _______ ¥ SUAGH BId Bl

Options :

1. ¢ Insert | g6

2. ® Page Layout | U #33T
3. ¥ Data | 22T

4. ® View | 9
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